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SECTION A: 1CT (40 marks)

Answer any TWO questions from this section, on the spaces provided after question 8.

. (a) Explain three fields in an e-mail software that may be filled when sending an e-mail to
multiple recipients. _ (6 marks)
(b) (1) State four types of hard copies that can be generated from a presentation
program. (4 marks)
(i1) Explain two ways that may be used to deliver a presentation to an audience.
(4 marks)
(<) When creating a database, state the most suitable data type for each of the following
fields:
(1) the number of children inta family; (1 mark)
(i1) a line of company address; (1 mark)
(i) gender of a person; 0 oo 200 (1 mark)
(1v) & person’s birthday. (1 mark)
(d) State four examples of point-and-draw input devices. 2 marks)
2 (a) Figure 1 shows an extract of a spreadsheet program used by a bookshop owner to
calculate profits. Use it to answer the questions that follow.
A sy =B A i SR Hih ol F
1 ISBN Cost price | Selling price Profit per Number Total Profit

: (Ksh) {Ksh) book (Ksh) sold (Ksh)

2 ]0-34-080006-2 1,870 2,465 595 56 33,320
3 10-52-154540-4 2,210 2,975 765 34 26,010
4 |0-74-879116-7 1,275 1,785 510 75 38,250
5 ]0-34-081639-2 2,805 3,485 680 a3 29,240

: Fig. 1
(1) State the format that has been applied to cell range B2: C5. (1 mark)

(i) Give the cell range of the cells that contain the values 75 and 43.

(1i1) Write a formula which has been used in cell F2.

(1 mark)

(1 mark)

(iv) A formula created in (iii) is to be applied in cells F3 to FFS. State the three
methods that may be used to achieve this,

(3 marks)
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Figure 2 shows two types ol network topology that have been combined to form a large
network. se if to answer the questions that follow:

Fig. 2
State the name of the type of larger network topology formed (1 mark)
' I frepk [ "'U.'r s mrep o
State the names of the twe types of network topology that iake the network.

Qg pepeled (1 mark)

{,‘1‘_” .‘,"'j " Jee 1)
Explain the function of cach of the following equipment in the network:
Tt

(1) switch; (2 marks)
(IT) router. (2 marks)

Outline four opcrations that can be carried out on a file using an operating
system. (4 marks)

Jane sccured her confidential file using a password but later on found out that the file
had been accessed and modified. Explain two ways in which the file could have been
accessed. (4 marks)
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3. (a) Figure 3 shows an extract of a document created using a word processor. Identify six

{ormats that have been applied in the document. (3 marks)
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Fig. 3
(b) Distinguish between system software and application software, illustrating your answer

with a commercial example in each case. (6 marks)

(¢) Explain two reasons for having a backing storage as an essential component of a

computer system. - (4 marks)

(d) (1) Outline the outcome when each of the following keys on a computer keyboard
are pressed when using a word processor:
(h backspace; (I mark)
(1) tab key; (1 mark)
(I11)  enter key. (1 mark)
. (i1) Distinguish between impact and non impact printers. (4 marks)
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SECTION B: COMMUNICATION SKILLS (20 marks)

Answer any ONE question from this section, on the spaces provided after question §.

4. (a) Identify six aspects of non-verbal communication which may influence communication.
(3 marks)

(h) State four indicators of effective communication in an organisation. (4 marks)
(¢) Outline five measures that a chair ofa meeting may take to ensure time management
durtng a meeting. (S marks)
(d) The position of Communication Assistant at Rimox Bakers Limited has fallen vacant.
Draft a press advertisement inviting suitably qualified persons to apply. (8 marks)
5. (a) State five details that an interviewee should find out about an organisation when
preparing for a job interview. (5 marks)
(b) Outline five ways in which a computer may be used in a business organization. f

(5 marks)

(c) The bakery section at Clover Hotels Limited was recently destroyed by fire. As the
Communications Assistant, you have been requested to investigate the matter and write
a report. Assuming that you have completed the investigations, write the report.
(10 marks)

SECTION C: ENTREPRENEURSHIP (40 marks)
Answer any TWO questions from this section, on the spaces provided after question §.

0. (a) Despite persuasion by friends, Hamisi has been reluctant to quit salaried employment
for zell employment. Outline six reasons that may have led to this reluctance.
(6 marks)

(b) Explain two reasons that makes it necessary for entrepreneurs to possess each of the
following characteristics:

(1) good human relations:
(11) high optimism;
(1) independence,

(2 marks)
(2 marks)
(2 marks)

(c) Explain four reasons that may be attributed to the slow growth of entrepreneurship in
developing countries. (8 marks)
<)
At
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7. (a) State four reasons that make a partnership deed an important document in a partnership,
(4 marks)

(b) Explain the meaning of each of the following terms as used in entrepreneurship:

(1) business opportunity;

(2 marks)
(1) enterprise management.

(2 marks)

(¢) Explam six strategies that women entrepreneurs may adopt to develop entrepreneurship.
(12 marks)
8. (a) Distinguish between partnership and co-ownership. (4 marks)

(b) Outline four indicators of a business plan which is not effective. (-4 marks)

(¢) Explain six reasons that make insurance an important business support service.

(12 marks)

S B S )
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